
Mad Maths Minutes 

Subtract 1-digit from 3-digit Set C 

392 – 8 =  894 – 0 =  

831 – 1 =  118 – 7 =  

269 – 5 =  477 – 5 =  

380 – 3 =  442 – 9 =  

357 – 0 =  573 – 6 =  

845 – 9 =  814 – 5 =  

266 – 6 =  607 – 3 =  

574 – 4 =  939 – 4 =  

364 – 2 =  195 – 1 =  

757 – 7 =  365 – 9 =  

611 – 4 =  459 – 8 =  

925 – 3 =  786 – 6 =  

359 – 2 =  664 – 7 =  

703 – 8 =  250 – 2 =  

204 – 1 =  862 – 0 =  

www.snappymaths.com 

 

Mad Maths Minutes 

Subtract 1-digit from 3-digit Set D 

992 – 7 =  184 – 3 =  

623 – 1 =  905 – 0 =  

473 – 2 =  388 – 2 =  

710 – 4 =  440 – 4 =  

368 – 8 =  275 – 7 =  

756 – 5 =  596 – 5 =  

968 – 0 =  233 – 9 =  

406 – 9 =  802 – 1 =  

289 – 6 =  585 – 2 =  

569 – 3 =  128 – 0 =  

446 – 9 =  753 – 7 =  

971 – 6 =   403 – 8 =  

506 – 5 =  249 – 4 =  

700 – 8 =  871 – 6 =  

818 – 1 =  716 – 3 =  
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